(Application of Integrals)
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R A, ={(x,)):0=x<2}
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Tfora

THy=x2+1Td y=x+ 1% dfaesg fag P(0, 1) T Q(1, 2) &1 3Tehfd 8.24 4,

aefiee &1, BEifhd &9 OPQRSTO € TS@sht &shel

w

NN G A

12.
13.

= & OTQPO &1 &5%al + & TSRQT 1 &5hd
[ @ ades [ Dde (i)

(55
[t oo i) 2

3T 8 U¥ fafaer wvAraet

X

. feu gu o @ W@ 9 R & @1 dawd A St

() y=x%x=1,x=2 Td x-3&
(i) y=x4x=1,x=5Ta =AY
TRy =xTA y=x>oh HAAd & 1 &ABA A HifeCl

. Yo wquiet | gfmfad wey =42, x =0,y =170 y =47 R &5 =1 gawd

T hiferg)

y =|x+3| =1 T Eifew T j_oﬁ|x+3|dx 1 HHE A HIST

x=0Tdx =277 T y =sinx & TR &F &1 &5Fa F0 HifoC
AT )2 =4ax T8 @M y=mx ¥ R &9 F1 &% T FHieC
AT 4y = 32T W@ 2y=3x+ 129 R &7 &1 &9%ar I Fife)

rﬁq‘qﬂ%2+§:1qa'i'@'[ §+§=1ﬁﬁ%a§mm%ﬂwmaﬁﬁm

2 2

LA SeloslwE T =] A R W A e T
10.
11.

TETAx2 =y, W@ y=x + 2T x-31 9 R & *1 &% I Hitsw)
AT foifer o ST Y U & || +|)| =19 TR &= =1 enihet 31 shifeiy|
[Fehd : 3Tavas &7, [etl x+y=1,xyp=1,—x+y=1Td—x—yp=1
g forw 2]

aﬁ{(x,y):nyzHuTy=|x|}@ﬁﬁ &3 W1 AT TN IS

TR fafd 1 ST FXd gU T W FASABC, 1 &% F1d it fordes
vt & FEsmE A2, 0), B (4, 5) T C (6, 3) Bl
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14. guhe fafy &1 ST &3d gU, Wisti 2x+y=4,3x—2y=6Tx -3y +5=0

T R &F &1 &F%a A Fifeu

15. & {(x,y) : )* <4x, 4x* + 4)* < 9} T &A% A FHifor
16 ¥ 20 T U H HEI W 1 =IF Hifaq:
16. o y=x3 x-3181 T Hifedi x=—2, x=14 R & &1 &9t 2:

17.

18.

19.

-15 15 17

(4) -9 ® - © 7 ® -
qhy =x |x|,x-318 TH HIfEA x=— 190 x=1 F BR & &1 &t 8:

1 2 4

(4) 0 ®) 3 © 3 (D) 3

[Faﬁ:y=xzqﬁx>0®y=—xzqf? x <0]
aay226x3ﬁ'{§ﬁx2+y2=l6ﬁ'{:lw &5 1 &% T:

4 4 4 4
(A) §(4n—\/§) (B) §(4n+\/§) ©) 3(875—‘5) (D) §(8n+\/§)

=38, y = cos x T y = sin x, Ostgﬁfa%m?ﬂam%:
(A) 2(2=1)  B) Z-1 (O {Z+1 (D) 2

qrIST
Ty = f(x), x-318 TG W@ x =q AN x=b(b>a) W R & & &5wA &1
T dowa= [ yde= [ f(de #1
THx= ¢ (y), y-AT T W@ y=c,y=d 9 R &3 o &5%a &1 T :
o= “xdy=[ "6 )y ¥

EEED y:f(x),y:g(x)QEfi'@Tix:a,x:ba? e o & &1 R
frefeafad 93 gr1 <9 7 2

B3Pl :J‘ab[f(x)_g(x)]dx,\_ﬂﬁ [a, b] i fx) =g )
AR [a,¢] B f)2g®x) T [, b]H f(x)< g(x),a<c<b, qA TH &AHRA

F frfafed TR § famd

dame = [ /) -g)]dx+ [ [0 £ (0]
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efergTias gy
THR T T o1 YR T o YRIe faehtd el 9 & ge ©1 98 Wi g
Tt g ekt Fvvar fafy @ e ©1 5@ fafu &1 9Rw wwde=
Trepfaal o ehel SN 39 SRl o ST W1 MUl § g3 39 W § g
fafer, wmmeRe fafy =1 yRfwes fefa o &9 & T9ei S gl €1 e fafy
1 Heliepe famd gRfUs 1t o Feisd (Eudoxus (440 . T,) 3R snfhfaeis
(Archimedes (300 §. 9,)%F &l & I gaTl ]

Fa o TaGId 1 hHdS 9ehTd $91 o 9N 171 Iaest § gl 99 1665
T =2 7 e T I 1 Jaed f651d (Theory of fluxion) o €9 H YR Rl
S 3@ fagid &1 wam o o Tl foag w wuefl 3R ashar-feen 9@ & o
fehalll =2 3 JhH oM Hi URON U UR=d A SR THeR giastaehors
(AffY=a wmehed) o1 Wil &t oA fafd (Inverse Method of tangents) 3T
BlEETURERI

1684-86, % = H ofafTs (Leibnitz) 7 T 99 Tehel SUfERTH (Acta
Eruditorum) ® WehIf¥rd feram I W éﬂw RIS (Calculous Summatorius)
T fean, =i J8 3 B Fhell o ATHA ¥ Fafdd o, F€ W 3w W
IANThe o Tdiieh ‘[ G = TRl B 1696 €. H $=I4 S, s (J.Bernoulli)
o G i HHRL ST YOS Tl helgad SUmelt (Calculus Integrali) 9
gftafdd & fean 98 =g g @ikl st gokd fafy & §1a o

=2 SR et S A qold: Tods A oo S gerd: fae 9 denfy = gt
o foagidl & G gfqhel o TG Q) dafT 3 e Saehe Sl HRon &
A TR
g fifvea ® for S € Helwem gfdeteshers SR Y= ueher o o= o
oY hl TI=qA G

frerd 71g € o quTeher TIOIq o TR JRonSH, fagidl qen stesher for
T 3G Rk Gaul o1 fashr . wal, =ged, SR et o wEl gra 174t
YA o 3Fd H gel qunfu gHeR Aifeed, HiH T Gehouwdr o STHR W 194t
ISR % URY H TUAHEN (A.L.Cauchy) o SR foham T o7d & <t @it
(Lie Sophie) &1 f=feifad S5xo1 auf= 21 "It may be said that the conceptions
of differential quotient and integral which in their origin certainly go back to
Archimedes were introduced in Science by the investigations of Kepler, Descartes,

Cavalieri, Fermat and Wallis... The discovery that differentiation and integration
are inverse operations belongs to Newton and Leibnitz".
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